REPRESENTATIONS.

What do | need to be able

to do?

By the end of this unit you should be able to:
Find single event probabity
*  Find relative frequency

*  Find expected outcomes

*  Find independent events
Use diagrams to work out probabilties

Probability

|
|
Probabity: the chance that something wil happen |
Relative Frequency: how often something happens dvided by the. outcomes :
Independent: an evert that is not effected by any other events |
Charce: the ikelhood of a particular outcome. I
Event: the outcome of a probabilty — a set of possible outcomes :
Biased: a bult in error that makes all values wrong by a certain amourt. |
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: Expected outcomes Expected outcomes are estimations It is a long term average rather than a :I I
| prediction I: Relative frequency can be used to find expected :
| I outcomes |
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Find the probabilty
of getling a 5 and
ared

The possble outcomes from roling a dce
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